Genetics Review Problems


Name: 


#: _____
Use the following information & Punnett square set-up to answer questions 

T=tall

t=short

Use the following options to answer




T

t
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2. The parents crossed in the above Punnett square 


a. are both tall



c. are both short


b. one is tall and one is short

d. both are of medium height

3. The genotype of the parents would be described as


a. both homozygous dominant




b. one homozygous dominant, and one homozygous recessive


c. both heterozygous


d. one homozygous dominant, and one heterozygous

4. There is a ___________% of chance of the offspring being tall. 


a. 100


b. 75


c. 50


d. 25


e. 0

5. Set up a Punnett square cross between a short plant with a heterozygous plant. Answer the following questions based on this cross. 

T=tall

t=short



 

6. In this cross, what percentage of the offspring will be short? 


a. 100


c. 50


b. 75


d. 25





e. 0

7. If you wanted all short plants, what genotypes would you cross? 


a. Tt X Tt

c. TT X TT


b. tt X tt

d. TT X tt

8. Will the following cross produce albino lemmings with SHORT tails? 

BbLL X BbLl

B=brown (not albino)


L=long tails

b=albino (white)


l= short tails


a. yes



b. no

9. A female heterozygous (for both traits) lemming is bred with an albino male with a short tail. 

Set up the Dihybrid Cross in the Punnett square below & answer the following questions. 

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


10. What percentage of the offspring will have short tails? 


a. 0%

c. 25%

e. 100%

b. 50% 
d. 75%

11. What percentage of the offspring will have the same phenotypes as the father? 


a. 0%

c. 25%

e. 100%

b. 50% 
d. 75%

12. If for your next batch of lemmings you do NOT want any albino offspring, which father should you choose? (their genotypes are shows below)


a. BBll


c. BbLl


e. bbll


b. Bbll


d. bbLL

13. Can an AB mother and an O father have a child with O blood type? Show the cross.  


a. yes


b. no

14.  My yellow lab came from a litter of all 3 colors (yellow, black & brown). Which of the following parents could have produced this litter? 


P=pigment (brown or black, determined by 2nd gene)



p=no pigment (yellow)






B=black

b=brown

a. Yellow mother (ppBb) & black father (PpBB)

b. Yellow mother (ppbb) & brown father (Ppbb)

c. Black mother (PpBb) & brown father (Ppbb)

d. Brown mother (Ppbb) & yellow father (ppBB)

15. Suppose you have two rose plants, both with pink flowers. You cross the two plants and are surprised to find that, while most of the offspring are pink, some are red and some are white. This must be an example of: 

a. incomplete dominance

c. multiple alleles

b. codominance


d. a polygenic trait

e. a sex-linked trait

A boy, whose parents and grandparents had normal vision, is color-blind. What are the genotypes for his mother and his maternal grandparents. Use XB for the dominant normal condition and Xb for the recessive, color-blind phenotype.

17. Mother:

a. XBXB 

c. XbXb


e. XbY

b. XBXb 

d. XBY 


18. Grandmother:

a. XBXB 

c. XbXb


e. XbY

b. XBXb 

d. XBY

19. Grandfather:

a. XBXB 

c. XbXb


e. XbY

b. XBXb 

d. XBY

